Example 9-3
type LEP_9_3
% "LEP_9_3"

% m-file to solve Example 9-3

%

% x(1)=Ca

% x(2)=T

%

% xdot(1)=d(Ca)/dt, xdot(2)=d(T)/dt

function xdot=LEP_9_3(t,x)

Cbo = 20.2 ;%

V = .01 ;%

SUMNA0THEiCpi = 28 ;%

dHrx = -45650 ;%

A = 3.734e7 ;%

E = 15400 ;%

R = 1.987 ;%

if (x(2)>55+273) ;

    Tedot =0;

else 

    Tedot =2 ;

end

ra = -A*exp(-E/R/x(2))*x(1)*Cbo ;%

Tsdot = (-dHrx)*(-ra*V)/SUMNA0THEiCpi ;%

xdot(1,:) = ra ;%

xdot(2,:) = Tedot+Tsdot ;%
ic=[6.73;293]; tspan=[0 20];  

[t,x]=ode45('LEP_9_3',tspan,ic);  

 plot(t,x(:,1)); title('Example 9-3');xlabel('t');ylabel('Ca');    

figure
 plot(t,x(:,2)), title('Example 9-3'); xlabel('t');ylabel('T');  
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